PARAMETRICS  YES! YES! YES!

(Independent and Dependent Variables, Domain, Range, Function) 
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1.   Using the function mode on your calculator graph   
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Fill in the table:


   <2nd> <y = >
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Fill in the table:    
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3. Compare the graphs 
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Compare the information determined in the chart.
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4. With calculator in parametric mode graph the following.

	
	             Domain
	                Range
	    Function?

	1.     
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Compare the information determined in the chart.

Can each of the graphs in parametric mode be graphed in the function mode?  Why or Why not?

5. With calculator in Parametric mode graph the following and complete the table.

	
	   Domain
	Range
	Independent Var.
	Dependent Var.

	1.    
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	2.    
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What do you know about #1, 2, and 3?

Use equation #1  

Substitute x = t  for  t  in y1(t).  Solve for  y1(t)
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Problem 5 Continued

Use equation #2  

Solve  x = 4t   for t.  Substitute the expression that t equals into y2(t) .  Solve for y2(t).

Use equation #3  

Solve  x =  4t – 2  for t.  Substitute the expression that t equals into y3(t).  Solve for y3(t).

Compare y1(t), y2(t), and y3(t).
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PARAMETRICS YES! YES! YES!

Three students, Jan, Jose, and John, are playing a game that involves a 20 x 20 grid drawn on the floor.  The grid is set up like the first quadrant of the Cartesian plane with each student given a different starting position.  A friend of the students will record their new position after each movement. 

Plot the positions of the students on the grid along with each movement.  Fill in the tables below. 

The players are to move 3 to the right on the x-axis and 2 up on the y-axis.

Jan will start at position (0,0), Jose will start at position (0,4), and John will start at position (5,0).



Jan






          Jose
	  Movement

          t
	    x
	     y 

	         0
	
	

	         1
	
	

	         2
	
	

	         3
	
	

	         4
	
	

	  Movement

          t
	    x
	     y 

	         0
	
	

	         1
	
	

	         2
	
	

	         3
	
	

	         4
	
	


	  Movement

          t
	    x
	     y 

	         0
	
	

	         1
	
	

	         2
	
	

	         3
	
	

	         4
	
	








John

Graph the following in parametric mode.  Match each of the following parametric equations with the student and his/her movements by looking at the table of each.
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Jan   _____________

    Jose   _____________ 

John  _____________

What does the coefficients of the independent variables tell us about the movements of the students?

What does the constants tells us about the movements of the students?
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Where will Jan be after 10 movements? __________   Where will John be after 7 movements? __________

Where will Jose be after 9 movements? __________

How many moves will it take Jan before she is at the y value of 8? __________

How many moves will it take Jose before he is at the y value of 8? __________

How many moves will it take John before he is at the y value of 8? __________


Use the parametric equation you have chosen for Jan and solve the x expression for the variable t.  Substitute the expression that t equals into y(t) .  Solve for y(t).

Use the parametric equation you have chosen for Jose and solve the x expression for the variable t.  Substitute the expression that t equals into y(t).  Solve for y(t).

Use the parametric equation you have chosen for John and solve the x expression for the variable t.  Substitute the expression that t equals into y(t).  Solve for y(t).

Compare the new equations you obtained for Jan, Jose, and John.  

Graph the new equations in function mode.  Compare the values in the tables of each with the tables in parametric mode recorded on the front page. 
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Two groups of students drive from Charleston, WV to Charlottesville, VA to attend a WVU-UVA football game.  The first group leaves Charleston at 10 a.m. and travels at a steady speed of 55 mph.  The second group leaves Charleston at l0:30 a.m. and travels at a steady speed of 65 mph.  When will the second group catch up with the first group of students?

Suzie is from Fredericksburg and has been visiting her grandparents in North Carolina.  She is coming home today and the families have planned to meet each other on the road.  Suzie’s family is anxious for her to come home so they leave Fredericksburg at 10 a.m. and drive toward North Carolina at a uniform speed of 60 mph.  (Assume there will be no traffic problems.)  At 10:30 the grandparents and Suzie leave their home in North Carolina and travel toward Fredericksburg at a uniform speed of 70 mph.  The families live about 160 miles apart.  Where and at what time will they meet?
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PARAMETRICS

(Inverses - Undoing)

A.  Undo the following examples.

1. Walk to the door, open the door

2. Climb a ladder, take out a light bulb, put in a new light bulb, and climb down the ladder.

3. Select a number and then add 3.

4. Select a number, multiply by 2, and subtract 7 from the result.

B.  With graphing calculator in parametric mode graph the following:
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Complete the table.

C.  Turn Off 
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Compare equations given in 
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Compare the tables from part B and C.

D. Graph  
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Turn on all 3 graphs and compare.

E. Put 
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 into y = mx + b form by solving 
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for T.  Substitute the new expression for the T in 
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Using the simplified expression write a statement that states the processes being performed given an independent variable.

F. Put 
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Using the simplified expression write a statement that states the processes being performed given an independent variable.

Compare the processes being performed in E and F.
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INVERSES (y-1) -  “UNDOING”

Given 
[image: image26.wmf]3
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 how do we determine the inverse equation?

Given the coordinate points of a function, how might we determine points on the inverse function?

What do we know about the graphs of a function and its inverse?
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